Geometry

Ch. 6 Homework Packet DRHS

Ch 6 Calendar

Date Day Assignment (Due the next class meeting)
1/09/24 Tuesday (A) Notes: 6.0 Pr‘oportlons and D'11at10ns
1/10/24 Wednesday (B) *Take Baseline Assessment in class

Y HW: 6.0 Worksheet
1/11/24 Thursday (A) Notes: 6.1 Dilations and Scale Factor
1/12/24 Friday (B) HW: 6.1 Worksheet
1/16/24 Tuesday (A) Notes: 6.2 Day 1 Similar Figures
1/17/24 Wednesday (B) HW: 6.2 Day 1 Worksheet
1/18/24 Thursday (A) Notes: 6.2 Day 2 Similar Figures
1/19/24 Friday (B) HW: 6.2 Day 2 Worksheet
1/22/24 Monday (A) Notes: 6.3 Proving Similar Triangles
1/23/24 Tuesday (B) HW: 6.3 Worksheet
1/24/24 Wednesday (A) Notes: 6.4 Proportional Parts
1/25/24 Thursday (B) HW: 6.4 Worksheet
1/26/24 Friday (A) Notes: 6.5 Perimeter & Area of Similar Polygons
1/29/24 Monday (B) HW: 6.5 Worksheet
1/30/24 Tuesday (A) In class review for Ch 6 Test
1/31/24 Wednesday (B) HW: Ch 6 Rev Wk and Vocab Journal
2/01/24 Thursday (A) Ch 6 Test
2/02/24 Friday (B) HW: None @

HW POLICY REMINDER (Copied from 23/24 syllabus)

Homework assignments will be graded on accuracy. Each problem is worth one point if done correctly.
Students who miss questions can earn back half credit on those problems by doing corrections.
Late Homework will be accepted for half of the earned value (yes, it will be graded by accuracy!), and it must

be turned in by the dayv of the test for that chapter.

If a student is absent, the district make-up policy will be followed.

HW Hints:

» Check out our class YouTube channel: https://www.voutube.com/channel/UCh9fLvew9metmQulb6vQ5Zw
» Show all work and draw the diagrams for each problem.

» For extra practice, visit www.khanacademy.org
» Check out www.mathguy.us for extra help.
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DRHS

For #1 — 9, solve each proportion for the variable. Show all work.
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For #10 — 18, simplify each radical. If needed, rationalize the denominator.

10) V27

13) \/%

1
16) =

11) V216

14) |2

1
17) %

12) V8

27

1
18) =
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For #19 — 26, simplify each radical. If needed, rationalize the denominator. Challenge: see if you can do
these in your head (without showing work!)

31 5 8 10
19) N3 20) NG 21) = 22) NG
6 15 8 10
2) 7 LR ) 7 26) 7

For #27 — 29: Consider how you did in Geometry last semester.

27) What are you proud of?

28) How was your effort and persistence in this course?

29) What behaviors did you practice in this class that supported your learning?

For #30 — 31: Consider this new semester for Geometry.

30) What is your academic goal for this course?

31) What are at least 3 behaviors that you can implement to help you meet this goal?

Continues on next page...
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For #1 — 3, describe each dilation as an enlargement or a reduction. Also, find the scale factor of the

dilation.
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For #4 — 6, each dilation is centered at the origin. Find the image A’ with the given coordinates of A and

the given scale factor.

4) A(-1,5);k =3

7) Multiple choice. Which statement below is true for the dilation shown

5) A(8,—4);k ==

to the right, which is centered at the origin?

A) The dilation is a reduction with a scale factor of k =

B) The dilation is a reduction with a scale factor of k = 3.
C) The dilation is an enlargement with a scale factor of k =

D) The dilation is an enlargement with a scale factor of k =

Wl

1

6) A(3,5);k = 3
‘Aky cz
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For #8 — 10, given that APQR is dilated to form AP'Q'R’, and the dilation is centered at the origin. Find

the scale factor of the dilation.

8) PQ=6:P’Q’ = 18

9)QR=4; Q'R’ =6

10) PR=8; P’R’ =10

Continues on next page...
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For #11 — 14, given that ABCD is dilated to form A'B'C’'D’, and the dilation is centered at the origin. Find

the scale factor of the dilation.

11) A4, 7); A'(12,21) 12) B(6,5); B'(3,2.5)

13) €(-2,—1);C’'(10,5) 14) D (5, 8); D’ (gg)

For #15 — 17: use the diagram shown.

15) Find mD.

16) Name the longest side in the triangle. How do you know?

17) Name the shortest side in the triangle. How do you know?

For #18 — 19, solve each proportion for the variable.

-2 3 2 7
18) == == 19) — ==
5 7 3x 4
For #20 — 22, factor each expression.
20) x2 —3x — 28 21) 5x% — 10x

22) x2+7x + 10

Continues on next page...
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6.2 Worksheet, Day 1 Name

For #1 — 4, given that AWXY~ACDA.

1) Write a proportion for the corresponding sides. v

first

second 3

2) Find the scale factor of AW XY to ACDA.

3) Find the scale factor of ACDA to AWXY. first W s

second

4) Which angle is congruent to £Y? How do you know?

For #5 -9, given that AABC~AXYZ.

5) Write a proportion for the corresponding sides.

6) Find the scale factor of AABC to AXYZ.

Sin 4in

7) Find the scale factor of AXYZ to AABC.

8) What is the measure of 2X? 9) Which angle is congruent to £C?

10) Multiple choice. Given that AHKM~ATW B, which statement(s) below are true? Select all that apply.

A) KB B) X C) 2H = «T D) <M = /W
™W KM TB WB
11) Simplify: —3v40 12) Simplify: %

Continues on next page...
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For #13 — 15: Solve each proportion for the variable.
2 x+2 8 b+2

5 4-b
B3)2=7 =5 =3 15 %=1

16) Given that AABC is dilated by a scale factor of k = 5, and the scale factor is centered at the origin. Which
statements below are true? Select all that apply.

A) If A(—3,4), then A'(—15, 20).
B) If B(0, 2),then B'(0,10)

C) The dilation is an enlargement.
D) If C(6,—1),then C'(11,4).
E) AABC = AA'B'C’

F) AABC~AA'B'C’

17) Which statements below are true? Select all that apply.

A) Iftwo triangles are similar, then each pair of corresponding sides are congruent.

B) If two triangles are similar, then each pair of corresponding angles are congruent.

C) Iftwo triangles are similar, then the corresponding sides are proportional.

D) Iftwo triangles are similar, then the corresponding angles are proportional to the scale factor.

For #18 — 19, find the scale factor of each set of similar figures below (small to large).

18) 19) 12

10 8

Continues on next page...
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For #1 — 2, for each pair of similar figures, find the variable(s).
1) Given AABC~ADEF, find x.

A 3 D
E
10
6 3 5
B 8 C
F
2) Given figure A ~ figure B. Find x.

/a2

For #3 — 5, use the diagram shown, where FHBKE ~ GCDJA.
3) Find x.

4) Find y.

5) Find z.

first

6) What is the scale factor of FHBKE to GCDJA?

second

First
second

7) What is the scale factor of GCDJA to FHBKE?

8) Complete the proportion: % =—

DRHS

Continues on next page...
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For #9 — 22, use the diagram shown, where AACB~ADEF. 9
9) Find D E
) Find x. B Z©
12
¢
4 5

10) Find y. C y A

F
11) Find z.

12) What is the scale factor of AACB to ADEF?
13) Find the perimeter of AACB. Hint: use the answer from #10.
14) Find the perimeter of ADEF. Hint: use the answer from #9.

15) Find the ratio of the perimeter of AACB to the perimeter of ADEF. Compare this to your answer for
#12. What do you notice? (Hint: use your answers from #13 and #14. Make sure to reduce your

fraction.)

N 28 inches

16) The drawing to the right shows a scale drawing of a park, where
1 inch represents 1.5 feet. Find the length of the longest side of the

park.

Q) ©

merry-go-round

]

40 inches

16 inches

17) In the diagram below, a 5 ft-tall student casts a shadow that is 6.5 feet long. A nearby tree casts a shadow
of 26 feet at the same time of day. Assuming that the triangles shown are similar, find the height of the tree.

26 ft 6.5 ft

Continues on next page...
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6.3 Worksheet Name

For #1 —9: Are the pair of triangles shown similar? If so, by what postulate or theorem? Choose from
SSS ~, SAS ~, or AA ~.

1) Q T 2) B E
p s A 5 C
D 12 F
3) 4) M
4‘ g /\N o
2 Q
3
P
5) T 6) = 6 _E
D
55°
12
U vV 8 Vz
W

Continues on next page...
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10) Multiple Choice. Which statement is true for the triangles shown?

A) AABC~AXYZ by AA~. B = C o
B) AABC~AXYZ by SAS~.
C) AABC~AYZX by AA~. 15 X 54
D) AABC~AXZYby SAS~. 10

A Z

For #11 — 16, find the variable.
11) o = 12)

15) 5 16)

S
[\®]
(e

10

For #17 — 19, solve for the variable by factoring. Hint: your answers will be x = __.

17) x> +8x+ 15 =0 18) 4x2 — 6x = 0 19) a? —49 =0

Continues on next page...
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For #1 — 12, solve for the variable(s).
1) Given that AB = 10.

3) A
[
e B E
/ 50 cm
C D
5) B
3
E
6
DS - C
7)
8 X

DRHS

Ch. 6 Homework Packet
Name
2) B

4)
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9) B 10)
3x-2 .
D E
x+1 2
~
A - C
11) 12) 3
15
6 18
g
4 4
For #13 — 14, use the diagram shown.
13) Find x. 3 N
"7
6 10
14) Find y.

For #15 — 17, use the diagram shown.

15) Complete the similarity statement: ABDE~ A

16) Find A. 17) Find g.

18) Given that B(—2, 6) is dilated to form B'(—1,3). The dilation is centered at the origin, find the scale
factor of the dilation.

Continues on next page...
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Use the diagram shown for #1 — 4.
1) Find the scale factor of AABC to ADEF.

2) Solve for x.

3) What is the ratio of the perimeters of AABC to
ADEF?

5) The perimeter of AKJG is 40. The perimeter of
ASWT is 30. What is the scale factor of AKJG to
ASWT if the triangles are similar?

7) Two triangles are similar, and the ratio of their
sides is 2:5. What is the ratio of their areas?

9) APQR~AWXY. The ratio of sides of APQR to
AWXY is Z. If the area of APQR is 98 cm?, then
find the area of AW XY .

Ch. 6 Homework Packet DRHS

Name

B

4) What is the ratio of the areas of AABC to
ADEF?

6) The perimeter of AW XY is 36. Find a, b, and ¢

if AWXY~ADAB. D
5 20
A 16 B
\\Y%
IA
a
X c X

8) Two similar rectangles have a ratio of areas of
49:9. What is the ratio of their sides?

10) Two similar triangles have a ratio of sides of
3:4. If one side of the small triangle is 9in. long,
how long is the corresponding side of the larger
triangle

Continues on next page...
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11) Two similar triangles have a ratio of sides of
3:5. The area of the small triangle is 27in?>. What is
the area of the larger triangle?

DRHS

12) The areas of two similar polygons are in the
ratio 64:81. Find the ratio of the corresponding

sides.

13) The areas of two similar polygons are in the ratio 36:16. Find the ratio of the corresponding sides.

Solve each equation for x:
14
14) — = 42
X

15)

13x-2 _

15

Continues on next page...
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Ch 6 Review Worksheet ( HOMEWORKY) Name

For #1 — 3, for each dilation with the given scale factor k, find the coordinates of the image, given that the
scale factor is centered at the origin.

1) H(5,2);k =3 2) N(—4,9);k = 3) D(6,—4);k =+

4) Classify the dilation from #3 as an enlargement or a reduction. How do you know?

5) Multiple Choice. For the given dilation, centered at the origin, which
statement(s) are true? Choose all that apply.

A) The dilation is an enlargement with a scale factor of 2.
B) The dilation is a reduction with a scale factor of %
C) The dilation is an enlargement with a scale factor of %

D) The dilation is a reduction with a scale factor of 2.

For #6 — 10, use the diagram shown, where AAEF~ABCD.

A
B
6) Write a proportion for the corresponding sides. 6 Y
18 u
7) Find the scale factor of AAEF to ABCD. E D
F
8) Find x. 9) Find y. 10) Find a.

For #11 — 16, are the triangles similar? If so, by what postulate or theorem? Choose from SSS~, SAS~,
or AA~, 12
40

11) 12) ] \ 13) -

30°
¥ }7
46°
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4) 100

80
160

80
50

40

For #17 — 26, find the variable(s).
17) Given that AABC~ADEF.

;- F
. 15
30 36 E
/\ "f
C A D

19)

o

Sx+2

21)

A

«— 4—»

Ch. 6 Homework Packet

15)

18)

20)

DRHS

16) 12

14 cm
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23) A 24) Bonus!

3 —3

x+2

A4

25) ) 26) "
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